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Note: We will cover up to simple division in this section (examples 1 to 7).
Additional examples
2) x%(x% - x%)

(x5 %y = RS INC TN SN C S TN N G ISR

4) a’l (a% + a%)

a’i(a’ +a’%) = a{TZj + a[?ﬂ = a(%] - a(+Tj = a(ﬂ - a(ZJ =a'+a’=a+a’

6) 5x2 (4x% +3x72 +2x%)
15 1.3 1+1 6 4 2

53 (% + 3107 + 2y 5T ) 5@ 45 = 2047 415x 7+ 10x 7
= 20x° +15x* +10x* = 20X’ +15X* +10x
8)  8xSy/i(4xSy s —12x 5y%)
8x/5y/3 (4x 5y /5 —12x 75y %) = 8(4) x[g+gj y(?’+[_3)j ~8(12) x(?(%D y(3+3j = 32x(€) y® —96x° y(gj
=32x° -96Yy?

10) (X =5) (x5 +2)
(X2 —B) (X2 +2) = (X 3)(x %) + 2% ~5x7 ~10 = X' —3x"% —10

12)  (a7-6)a?-2)
@7 —6)(@?-2)=(a?)(a’?)-2a"2 —6a'2 +12=a? —8a’2 +12 = a—8a’? +12

14) (5% -2)(4y” +3)
By -4y +3)= Gy )4y ) + 36y ) - 2(4y*) -6 =20y +15y "> ~8y " -6
= ZOy% +7y% -6

16)  (4x7—2y2)(5x2 - 3y2)
(4> =2y )(6x* -3y ) = (x2)(6X %) + (4 *)(-3y %) + (X ) (-2y %) + (-3y 2)(-2y )
= ZOX% —12x%y}/2 —10x%y% + Gy% = ZOX% - ZZX%y% +6y

18)  (t2-3)
(t% -3)° = (t% —3)(t% -3)= (t%)(t%)—3t% 3t 9=t 6t +9—t—6t"2 49
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20)  (X?-6)
(X2 —6)2 = (X2 —6)(x "2 —6) = (X 2)(X 2)—6X 2 —6X 2 +36 = x 2 ~12% 2 +36 = X ~12X 2 + 36

22) (a2 +b'2)?
(272 +b72)? = (2”2 +b7) (@7 +b72) = (a77)(@"?) + (22)(072) + () (077) + (b/7)(b?)
—a’?+a’%h’? +a’?’? +b? =a+2a’?b? +b

24)  (5x'2+4y’7)?
(5% +4y )" = (5x2 + 4y #)(Bx2 + 4y %) = (5x2)(6x ) + (Bx 2)(4y %) + (6x2)(4y 2) + (4y ) (4y )
= ZSX% + ZOx%y}/2 + ZOX%y}/2 +16y% = 25X+ 40x%y}/2 +16y

26) (a2-5%)(a’? +57)
(2" -5)(@" +5") = (@%)(a™) + (a™2)(6™) + (2)(-572) + (-572)(5 )
—a’2+5%a"2 53" 52 a5

28)  (ry K-y
(% Y07 = y72) = () + ()Y 72) + ()Y )+ () -y )
% ey

30)  (2-57)(t2+57)
(2 -8")(% +57) = (V)(12)+ ()62 + (2)(-57) + (-57)(5™)

—t%2 457212 572t/ 572 _{ 50 =125

32)  (3x2+272)(3x2-2%)
(3x72 + 272)(3x2 - 272) = (3x/2)(3x2) + (3x'2) (=272) + (3x'2)(272) + (272)(-272)
—9x2 2% x/2 1 2% %7 272 —9x— 27 = 9x -8

30) (- y )
(% =y )5 +x 3y 5y )

= ()0 + )Y+ 0+ Y0 + P05 ) + ()
i xyBxyh BB _y¥ oy
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36)

38)

40)

42)

44)

46)

(@’ +3)(@’* -3a’% +9)
(@ +3)(a” ~33" +9) = (a*)(a") + (a”)(-3a ")+ (3 *)(@) + (B)@ ") + (3)(-3a") + (3)(©)
—a’-32" 192" +3a% ~9a” +27=a+27

3x5 —1)(9x7 +3x75 +1)
(3x/ ~1)(9x7® +3x7% +1) = (3x/2)(9% %) + (3% 2)(3x %) + (3x2)(1) + (~1)(9X ?) + (~1)(3x2) + (~1)(1)
= 27x7 +9x3 +3%5 90X 3 — 3% 1= 27x~1

(4 —2)(t* +2)(t2 + 4)

(Wt — D)t +2)(t/2 +4) = (t2 + At —2)(t* +2)3 = (/2 + {7 ) () + 2t —2tT4 — 4}
= (U2 +4) {7 — 4y = (U2 + A2 — 4} = (1/2)(t/2) - 4t72 + 472 -16
—t72-16=1-16

25x74 1 30x 4

5X%
25)(% +30x% B 25x%1 N BOX% _54 GX[GJ{%)] =54 6X@ =5+ GX}/2

5X% - 5x% 5x%

123 y% —18x% y%

GX%y%
ayh _1gxay /s Byh o 18xHyh a1 A INE
12x7%y7® —18x7Py”® _12x7Py”® 18x”°y =2X[(3j (3))_3 (@ [SD:ZX(J—B @:2)(_3
GX%y% GX%y% GX%y% ! ! ’

24a’5b’s ~16a’5p’%

8a’sh’s
242”0’ ~16a"b" _24a™0* 162’0 __ [EHE) L (BHE) _ (G 8 o o

8a’5h’s © 8a’ps ) 8a’5h’s i



